ﬁ N @ g @ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
2,334 x 10000 = 3,685 x 100 =
5,002 x 1000 = 9,98 x 10 =
1,901 x 100000 = 5,699 x 1000000 =
4,562 x 1000 = 9,426 x 10000 =
8, 133 x 100000 = 9,093 x 10000 =
9,502 x 10000 = 9,481 x 1000000 =
4,413 x 100 = 5,507 x 100000 =
6,651 x 100 = 3,837 x 1000 =
1,351 x 100 = 1, 848 x 1000000 =
8,601 x 100 = 8, 117 x 10000 =
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ﬁ N @ g @ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
2,334 x 10000 = 23340 3,685 x 100 = 368.5
5,002 x 1000 = 5002 9,98 x 10 =99.8
1,901 x 100000 = 190100 5,699 x 1000000 = 5699000
4,562 x 1000 = 4562 9, 426 x 10000 = 94260
8, 133 x 100000 = 813300 9,093 x 10000 = 90930
9, 502 x 10000 = 95020 9,481 x 1000000 = 9481000
4,413 x 100 = 441.3 5,507 x 100000 = 550700
6,651 x 100 = 665.1 3,837 x 1000 = 3837
1,351 x 100 = 135.1 1, 848 x 1000000 = 1848000
8,601 x 100 = 860.1 8,117 x 10000 = 81170

www.snowmath.com


https://www.snowmath.com

